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Import java.util.concurrent.ExecutorService. import
java.util.concurrent.Executors. import
java.util.concurrent.locks.ReadWriteLock. import
java.util.concurrent.locks.ReentrantReadWriteLock. /** * Javal] [
L O **/ public class Test { public static void main(String[] args) { //
000000000 MyCountmyCount = new
MyCount("95599200901215522", 10000). /L0 O O O O O O
ReadWriteLock lock = new ReentrantReadWriteLock(false). //1 [
[0 00O 0O O ExecutorService pool =
Executors.newFixedThreadPool(2). /000000 O00OO O
JO0o0do0bo0oooodonooond Userul =new User(™
[ 0", myCount, -4000, lock, false). User u2 = new User("J O [
1", myCount, 6000, lock, false). User u3 =new User("J O O O ",
myCount, -8000, lock, false). User u4 = new User("J O ",



myCount, 800, lock, false). User u5 = new User("J 0 0O OO ",
myCount, 0, lock, true). /0 0D 0 0O0O0OO0O0OOOO
pool.execute(ul). pool.execute(u2). pool.execute(u3).
pool.execute(u4). pool.execute(us). //0 U 0O O O
pool.shutdown(). }}/~** 0 0O O O O O */ class User implements
Runnable { private String name. //UJ 00 O private MyCount
myCount. /0 0 0O 0O OO O private intiocash. /0 0 0O 0O 0O O
00000000 private ReadWriteLock myLock. /00 U 0 O
000000 private boolean ischeck. /00 1 U O User(String
name, MyCount myCount, int iocash, ReadWTriteLock myLock,
boolean ischeck) { this.name = name. this.myCount = myCount.
this.iocash = iocash. this.myLock = myLock. this.ischeck = ischeck.
} public void run() {if (ischeck) { /00 O O [
myLock.readLock().lock(). System.out.printin("J UJ " name "[J [
O 0"myCount"O OO OO OO O " myCount.getCash()). /U
[J O O myLock.readLock().unlock(). }else {//00 OO OO O
myLock.writeLock().lock(). //00 O OO 0O O O 100Test O U OO O [
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